CURRICULUM COMPENSATION

I RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ADDAMS ELEMENTARY SCHOOL BOOK STUDY ACTIVITIES JANUARY 31, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0100-1341-531-4)

Baker, Audrey	Kunz, Amber
Brinkley, Rita	Layne, Danielle
Crum, Milena	Perry, Whitney
Edmonds, Meghan	Riedle, Lindsey
Gilbert, Rachel	Rollet, Kimberly
Hardas, Lisa	Smith, Mckenzie
Harpring, Nancy	Stillwagon, Sarah
Hawkshaw, Meghan	Wind, Elin
Kother, Amanda	

II RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR BUTLER ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES JANUARY 31, 2024, \$35.57 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$53.36 EACH: (10-2210-0400-1341-531-4)

> Barham, Ashley Deatherage, Kristy

Helton, Rachel

III RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES JANUARY 31, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0800-1341-535-4)

Baldin, Jennifer	
Brillhart, Sarah	

Punke, Lindsay

IV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRANT MIDDLE SCHOOL SCHOOL IMPROVEMENT QUALITY FRAMEWORK ACTIVITIES JANUARY 8, 2024, \$35.57 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$44.46 EACH: (10-2210-4200-1341-535-4)

Coleman, Justin	Rawls, Nicola
Franklin, Sara	Silveri, Tracy
Gibbs, Katie	Snyder, Stephanie
Harrison, Maggie	Ziemba-Montavon, Tammy
Kirkpatrick, Kody	

V RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT SEL PLANNING ACTIVITIES FEBRUARY 1, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0800-1341-535-4)

Baldin, Jennifer	Kahl, Lindsay
Blankenship, Christie	Moore, Lori
Brillhart, Sarah	Nolen, Emily
Capranica, Amy	Peterman, Sarah
Curtis, Michele	Punke, Lindsay
Eck, Lindsay	Robinson, Jessica
Foster, Carmelita	Seaver, Christine
Hendon, Wendy	Zoll, Alexandra

VI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES JANUARY 31, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0800-1341-535-4)

> Blankenship, Christie Hendon, Wendy

Kahl, Lindsay Nolen, Emily

VII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES JANUARY 31, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0800-1341-535-4)

Capranica, Amy

Hustedt, Isaac

VIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE SCHOOL SOCIAL STUDIES PROFESSIONAL DEVELOPMENT JANUARY 31, 2024, \$35.57 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$53.36 EACH: (10-2210-0000-1341-564-4)

Benoit, Claire	Law, Jordan
Coons, Roanna	Mitts, Jodi
Froehner, Nicole	Netznik, Melissa
Koebler, Bailey	Rawls, Nicola
Koustas, Madison	Schwappach, Hayley

IX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES JANUARY 24, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0800-1341-535-4)

Capranica, Amy

Hustedt, Isaac

X RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES JANUARY 24, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0800-1341-535-4)

Baldin, Jennifer	Moore, Lori
Brillhart, Sarah	Punke, Lindsay

XI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MATHENY/WITHROW ILT/AVID PLANNING ACTIVITIES FEBRUARY 13, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-4331-1341-534-4)

Detmers, Erica

Kincaid, Jessica

XII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MATHENY/WITHROW BBSS PLANNING ACTIVITIES JANUARY 11, 2024, \$35.57 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$44.46 EACH: (10-2210-4331-1341-534-4)

Bowman, Ashley	Smith, Melissa
Cook, Kaitlyn	Stahr Trimpe, Sarah
Ginsberg, Rachel	Young, Jennifer
Logsdon, Thomas	

XIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EARLY START INCLUSION PROJECT MEETING FEBRUARY 6, 2024, \$35.57 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$53.36 EACH: (10-2210-6431-1341-481-4)

> Haage, Leanne Henson, Kristinah Justison, Mildred Kieffer, Shelley Lacamera, Kathryn Lamontagne, Kristin

Mahinda, Stacy Servough, Carrie Shaffer, Andrea Tolsdorf, Kathleen Wisecup, Melinda XIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MATHENY/WITHROW FACE TEAM PLANNING ACTIVITIES JANUARY 23, 2024, \$35.57 PER HOUR, 1.75 HOURS FOR A TOTAL OF \$62.25 EACH: (10-2210-4331-1341-534-4)

> Logsdon, Thomas Sapetti, Camryn

Young, Jennifer

XV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MATHENY/WITHROW ILT/AVID PLANNING ACTIVITIES JANUARY 9, 2024, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-4331-1341-534-4)

Brady Hanken, Kathleen	Logsdon, Thomas
Detmers, Erica	Smith, Melissa
Kincaid, Jessica	

XVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MATHENY/WITHROW ILT/AVID PLANNING ACTIVITIES JANUARY 18, 2024, \$35.57 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$44.46 EACH: (10-2210-4331-1341-534-4)

> Detmers, Erica Kincaid, Jessica Logsdon, Thomas

Smith, Melissa Williams, Kauntessa

XVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MATHENY/WITHROW ILT/AVID PLANNING ACTIVITIES JANUARY 25, 2024, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-4331-1341-534-4)

Brady Hanken, Kathleen	Kincaid, Jessica
Detmers, Erica	Logsdon, Thomas

XVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION K-2 SMALL GROUP COURSE #2 NOVEMBER 20, 2023, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-0000-1341-564-4)

Blankenship, Christie	Martin, Bailey
Crumrine, Carrie	Moore, Lori
Friday, Jessica	Nolen, Emily
Hendon, Wendy	Patterson, Jami
Hubbs, Sally	Riedle, Lindsey

XIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES JANUARY 31, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-3100-1341-531-4)

Campbell, Lisa	Hughes, Lindsey
Davis, Lacy	Walk, Michelle

XX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL ILT PLANNING ACTIVITIES JANUARY 29, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-3100-1341-531-4)

Campbell, Lisa	Davis, Lacy
Creek, William	Logsdon, Alicia

XXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL DATA REVIEW PLANNING ACTIVITIES FEBRUARY 5, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-3100-1341-531-4)

> Creek, William Davis, Lacy

Marsaglia, Brianne

XXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRANT MIDDLE SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES FEBRUARY 12, 2024, \$35.57 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$44.46 EACH: (10-2210-4200-1341-535-4)

Archey, Heather K	Harrison, Maggie
Cuzzort, Samantha	Montooth, Jennifer
Franklin, Sara	Rawls, Nicola
Gibbs, Katie	Ziemba-Montavon, Tammy

XXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FEITSHANS ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES JANUARY 30, 2024, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-4600-1341-535-4)

> Bryant, Sydney Crumrine, Carrie Floyd, Alaxandria Frost, Madison

Nachtwey, Kristin Patterson, Jami Sabath, Michelle XXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRANT MIDDLE SCHOOL SCHOOL IMPROVEMENT QUALITY FRAMEWORK ACTIVITIES JANUARY 24, 2024, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-4200-1341-535-4)

> Gibbs, Katie Harrison, Maggie Rawls, Nicola

Silveri, Tracy Ziemba-Montavon, Tammy

XXV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR WASHINGTON MIDDLE SCHOOL SCHOOL IMPROVEMENT ILT PLANNING ACTIVITIES FEBRUARY 1, 2024, \$35.57 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$44.46 EACH: (10-2210-4400-1341-535-4)

Coons, Roanna	Mccarthy, Caitlin
Daniels, Sherry	Nicholas, Kelly
Fromm, Kelly	Schaefer, Bridget

XXVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FEDERAL FUNDS NON-PUBLIC INTERVENTION ACTIVITIES JANUARY 24 THROUGH JANUARY 29, 2024, \$32.26 PER HOUR, 11 HOURS FOR A TOTAL OF \$354.86: (10-3700-0000-1243-531-4)

Lamsargis, Kathy

XXVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EARLY START INCLUSION PROJECT MEETING DECEMBER 5, 2023, \$35.57 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$53.36 EACH: (10-2210-6431-1341-481-4)

Haage, Leanne	Lacamera, Kathryn
Henson, Kristinah	Lamontagne, Kristin
Justison, Mildred	Oglesby, Jennifer
Kieffer, Shelley	Shaffer, Andrea

XXVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION FASTBRIDGE TRAINING FEBRUARY 7, 2024, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-0000-1341-564-3)

> Allender, Jennifer Eller, Gregory Hustedt, Isaac Kahl, Lindsay

Lamb, Ann Phillips, Michelle Schoppenhorst, Debbie Sullivan, Kathryn

XXIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION HIGH SCHOOL MATH COLLABORATION FEBRUARY 8, 2024, \$35.57 PER HOUR: (10-2210-0000-1341-564-4)

Biggers, James	1.75 hours	\$62.25
Bradley, Rechad	1.50 hours	53.36
Herring, Jesse	1.50 hours	53.36
Hull, Jalene	1.25 hours	44.46
Kinder, Scott	1.50 hours	53.36
Lin, Christine	1.50 hours	53.36
Moldenhauer, Ryan	1.50 hours	53.36
Myers, Erin	1.25 hours	44.46
O'Bryen, Sheila	1.50 hours	53.36
Slater, Toni	1.50 hours	53.36

XXX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION LINDSAY BACKWARDS PLANNING JANUARY 30 THROUGH FEBRUARY 7, 2024, \$35.57 PER HOUR, 3 HOURS FOR A TOTAL OF \$106.71 EACH: (10-2210-0000-1341-564-4)

Bartletti, Jennifer	Godefroid, Amie
Beck, Melissa	Hays, Megan
Browning, Elizabeth	Hockenyos, Karen
Cano, Michelle	Johannes, Madison
Cleaver, Joshua	Lueking, Mary
Dresch, Kim	Milnes, Karen
Gilmore, Elizabeth	Pyle, Amy

XXXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE AND HIGH SCHOOL SCIENCE DEPARTMENT CHAIR MEETING FEBRUARY 5, 2024, \$35.57 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$53.36 EACH: (10-2210-0000-1341-564-4)

Allen, Laura	Vanderslik, Julie
Covey, James	Walls, Peter
Finley, Anne	Weller, Amy
Fromm, Kelly	Westfall, Katrina
Goff, Donald	Ziemba-Montavon, Tammy
Troemper, Brett	

XXXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION NEW TEACHER YEAR 1 FORUM #6 FEBRUARY 1, 2024, \$35.57 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$53.36 EACH: (10-2210-0000-1341-564-4)

Anders, Clare	Johnson Collins, Alyson
Baker, Brandon	Kantor, Kyler
Behnke, Joshua	Lessen, Kelsey
Biggers, James	Lin, Christine
Borders, Nate	Martin, Bailey
Brinkley, Rita	Miller, Brandon
Butler, Allory	Milliman, Kathryn
Cook, Kaitlyn	Mueller, Cassandra
Cullen, Kristin	Nelson, Courtney
Daley, Melinda	Perry, Claudia
Decker, Taylor	Raymond, Christopher
Erickson, Carlie	Rivera, Onya
Galayda, Grace	Rothfus, Erin
Garrett, Olivia	Scheffers, James
Glisson, Alec	Sevener, Alayna
Green, Shelby	Shively, Lydia
Grucza, Jordan	Smith, Mckenzie
Harris, Nicolette	Smith, Melissa
House, Mikaila	Yockey, Lucille
Jackson, Ashton	

XXXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE AND HIGH SCHOOL MATH DEPARTMENT CHAIR MEETING JANUARY 29, 2024, \$35.57 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$53.36 EACH: (10-2210-0000-1341-564-4)

Bradley, Rechad	O'Bryen, Sheila
Horstman, Laura	Silveri, Tracy
Myers, Erin	Webster, Stephanie
Nicholas, Kelly	Womble, Ashley

XXXIV RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR MATHENY/WITHROW FACE TEAM PLANNING ACTIVITIES JANUARY 23, 2024, FOR RATE SPECIFIED: (10-2210-4331-1341-534-4)

Morris, Michelle	1.75 hours	\$37.95 Per Hour	\$66.41
Pitts, Debra	1.75 hours	\$17.72 Per Hour	31.01

XXXV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE AND HIGH SCHOOL MATH AND SCIENCE COLLABORATION FEBRUARY 07, 2024 THROUGH FEBRUARY 7, 2024, \$35.57 PER HOUR: (10-2210-0000-1341-564-4)

Bentley, Justin	1.50 hours	\$53.36
Biggs, Brian	0.50 hours	17.79
Boarman, Claire	1.50 hours	53.36
Gairani, Rhett	0.50 hours	17.79
Goff, Donald	1.50 hours	53.36
Horstman, Laura	1.50 hours	53.36
Ihlenfeldt, Evan	0.50 hours	17.79
Kulavic, Tara	0.50 hours	17.79
Mathew, Tony	0.50 hours	17.79
Nicholas, Kelly	0.50 hours	17.79
Peeler, David	0.75 hours	26.68
Rothfus, Erin	0.50 hours	17.79
Sammons, Amber	0.50 hours	17.79
Webster, Stephanie	1.00 hours	35.57
Wiedeman, Dale	1.50 hours	53.36

XXXVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION COGAT TRAINING JANUARY 18 THROUGH JANUARY 30, 2024, \$35.57 PER HOUR, .5 HOURS FOR A TOTAL OF \$17.79 EACH: (10-2210-0000-1341-564-4)

Allen, Lisa	Kiser-Gruen, Nicole
Altadonna, Lydia	Komnick, Jeanne
Amerson, Megan	Madonia, Melinda
Bartolomucci, Dena	Mayes, Apryl
Beever, Melissa	Mcquillan, Marilou
Bland, Rachel	Nelson, Courtney
Blankenship, Christie	Nestler, Tena
Brady Hanken, Kathleen	Nolen, Emily
Bremer, Traci	Nunn, Jelinda
Brinkley, Rita	Patterson, Mary
Cripe, Jill	Perry, Whitney
Davis, Holly	Phillips, Suzanne
Deaton, Jacqueline	Price, Jessica
Gallina, Maria	Riedel, Bridget
Guikema, Lindsay	Roark, Heather
Hendon, Wendy	Senger, Kristin

Cogat Training January 18 Through January 30, 2024, \$35.57 Per Hour, cont.

Hockenyos, Karen	Small, Laura
Holler, Melinda	Stephens, Catherine
Joyner, Abbie	

XXXVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE AND HIGH SCHOOL BUILDING TECH LEADER STIPEND OCTOBER 30 THROUGH DECEMBER 20, 2023, FOR RATE SPECIFIED : (10-2210-0000-1341-564-4)

1.00 Stipend	\$12.50
1.00 Stipend	250.00
1.00 Stipend	100.00
1.00 Stipend	187.50
1.00 Stipend	200.00
1.00 Stipend	200.00
1.00 Stipend	87.50
1.00 Stipend	50.00
1.00 Stipend	75.00
	1.00 Stipend 1.00 Stipend 1.00 Stipend 1.00 Stipend 1.00 Stipend 1.00 Stipend 1.00 Stipend

XXXVIII RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR EARLY START INCLUSION PROJECT MEETING FEBRUARY 6, 2024, FOR RATE SPECIFIED: (10-2210-6431-1360-481-4)

Dickerson, Latasha	1.50 hours	\$21.14 Per Hour	\$31.71
Rockford, Jean	1.25 hours	\$32.05 Per Hour	40.06
Schneller, Brittany	1.25 hours	\$21.50 Per Hour	26.88

XXXIX RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR EARLY START INCLUSION PROJECT MEETING DECEMBER 5, 2023, FOR RATE SPECIFIED: (10-2210-6431-1360-481-4)

Dickerson, Latasha	1.50 hours	\$21.14 Per Hour	\$31.71
Rockford, Jean	1.25 hours	\$32.05 Per Hour	40.06
Schneller, Brittany	1.25 hours	\$21.50 Per Hour	26.88

XL RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION CULTIVATING GENIUS PROFESSIONAL DEVELOPMENT FEBRUARY 1, 2024, \$35.57 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$53.36 EACH: (10-2210-0000-1341-564-4)

Allender, Jennifer	Mccarthy, Caitlin
Freeman, Tina	Romer, Gina
Martin, Colleen	Schatz, Katie

- 10 -

XLI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MATHENY/WITHROW AFTER SCHOOL DATA ACTIVITIES JANUARY 25, 2024, \$35.57 PER HOUR, .5 HOURS FOR A TOTAL OF \$17.79 EACH: (10-2210-4331-1341-534-4)

Meyer, Heather

Smith, Melissa

XLII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MATHENY/WITHROW AFTER SCHOOL DATA ACTIVITIES JANUARY 23, 2024, \$35.57 PER HOUR, .5 HOURS FOR A TOTAL OF \$17.79 EACH: (10-2210-4331-1341-534-4)

> Bahlmann, Dara Cook, Kaitlyn

Young, Jennifer

XLIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DUBOIS ELEMENTARY SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES JANUARY 11, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0600-1341-535-4)

Hood, Heidi

Vogel, Carolyn